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Note: Yod have four cholces for sach objective type question as A, B, C and D. The cholos /s /il

which you think Is corract, fil that bubble In front of that question number. On bubble shaet, use marker or pen

to fill the bubbies. Cuiting or filling two or more bubbies will result in zerc mark in that question. Attempt ss
many questions as given In objective type question paper and leave others blank. No credit will be awarded
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(1) Symbolused for simiiyls . S AL ()
A= (8) ~ € a (0) #

@ ___olaperalelograms <l ANLRIARLN ____ Nonins )
equal to the product of its base and altitude,

(Whrea 3 B)lenghdy  ©Wandl - (0)Noneoithese et

(3) Thedagonalofaparalelogam _  sachoher LS (emlnlteiigr ()
{A) Perpendicular »* (B) Trisect &8" (C) Bisectat ight angle A}’ (D) Bissct &

(4) Theorderofmatix [2 1] is- <ok 2 1] A W)
W 2-by-1. (B)1-by~2 €) 1-4y~1 (0)2-ty-2

1) Wite I inexpanental fom ! 1 Akl T
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6) The ogartm o ny number o sl bese s enzdoms i lm @
{A) 1 () 0 (€) -1 (0) 10
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(8) Find m sothat x* + 4x + m Is a complete square. Tle,gch}f 4z e m
(A) 8 (B) -8 (©) 4 (0) 15
(8) The square rootof a” = 2a +1 fs- +1 @)

W t(atl) @ Ha-1) @
(10) 1Fthe capacty 'C" of an elevator is at most Weubic MJ;.MJJ.{ (10)
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B (1, U} (©(0,0) O(11)

(12 --h  having all sides equal, s called < Lt (1)
(A) Isosceles (AU (B) Scalene (¥ (C) Equiateral i+ (D) Right angled (As4

(13) Inatiangle, terecanbe ____ight angle #x_x%ﬁuﬁ,ca.ﬁf (1)
(&) Onlyone Jii# (B) Two v (C) Theee (0) Four Jy

(14) Ina paralielogram opposile anglesare . Mln _ LudRChlnge (1)
(A)ilon perallel $/#%¢ (B)Unequal 2t (C)Vertical % (D) Equal 4Lz *

(15) The fightbisectorol he sides ofatienglears__ . il tillmilely’ (19

(A)Concurtent S (B) Equal 4z () Notoncurent 2514 (D) None of these &/t
Ans. ~ (M.A19,1):18,2A,3D,4B,5C,6A,7D,8C.9B,10C,11C, 12C,13A, 14D, 15A



